o R R K 22019 — 20202 45 5 — 24 1
B HTB2(8/9)

k4 T
BE | — | = =100 5z | Nt By
55y

2020 4 3 A 23 H

—(15%7) « REZLL;: rty=0 LKHKLy: v =—y = :
20 —2—-1=0
i@ T P 5 R
sin(zy?)
—(15%). () — (a/Ix] + 2% + ¥ + b)— g a2 4y £ 0,
0, 22+ = 0.

R (1), Ha, ONTER, BEf (o, y)EJE S ALESE? (2). Ha, bAFER,
BRI S (o, y) B S AL RT Al 2

=(10%)). RE K = 2(z,y) EAW L 55 aw%{ UETHOY g
v=r+2/y

=0, WHEaIH.




Q'JS

P;El(205j\)\ iﬁ@i&f(m, y) = (y — x2)2 + I»G’
0, 22 +y* = 0.

2?4+ y* # 0,

R

(1), sl
a € [0,2m);

(2). WEM?2,-1,3),5HKL, : v -1 = —y = 2+ 2%, HE5FHIL -
3r — 2y + 2z + 5 = 0B Nao M EH L LI T 5.

l0,0) 7# 0 i KMEa (I8 Nag), HHe = (cosa,sina),

F(2049). WHEERTEIS : o2 + 3y% 4+ 22 — 1, IDNSTESE— SR M IIER, Kok
(1). ST =/ A b 5P T FEL AR D T A AR/ ) A
(2). AETTE =/ AR T L B = T T D) 1A

N(1053) WHERESf (2, y, ) FEERIRQ - 22 + 2 4+ 22 < O L FHES WS K, Hil
Elgradf| < 1M £(0,0,0) = 1. Wik: |f(2,y,2)| <4, (2,y,2) € Qe

£(1057). BWERESf (2, y)ESWTE, Hf(0,1) = f(1,0). WiE: 7EHAL 22 +

e Of O
y%q§¢ﬁ@ﬁ¢mﬁmﬁm&ﬁﬁ%£=gi



